VYCHODNY POHLAD

+5.700 lﬁ’

7: 450

ZAPADNY POHLAD

\ﬁi.ooo = (1] )
D FUO00 U000 | =
£0.000 £0.000 | - -t — . -
R S = T ___ R . ._
A N B . mw N 7 6300 7 19500 J 18000 7 12000
©  HALAGT ° HALA 6.6 ¢ HALA €.5 B HALA .4 A
JUZNY POHLAD
9,815
_:.80 » % » | +7,450
« \ _ [T [T [TTIII [T [T [TTIII] r ﬁt:oc
5 T Ty P w___ 000
] M [TTi 113
6000 6000 6000 6000 6000 6000 6000 4750 \__Ng 6000 6000 6000 6000 6000 6000 6000 1\% 6000 6000 6000 6000 6000 6000 6000 6000
15 x 6000 = 150 000
28 27 26 25 24 23 21 19 Awi@ 15 14 13 12 11 10 9 8 7/ 4 3 2
SEVERNY POHI'AD
e [ - HEEEEEEEEEEE NN EEEEEEEEEEnE | | | | | | | | | | -
C T ! ! | | ! ! | ! ! ! s
= R | | RN | .“ | | | | e
i 1N _==_===
E— -m - 0 —
oI ENENInNE [T P I IO | [P E O
[ | O | | SRS _
oo oo oo | ] ow | L) 250, 4750 6000 6000 6000 6000 6000 6000 6000 6000 6000 6000
5 106000 = 60,000 5000
d : ’ ¢ ’ ’ 0 1617A 17 18 19 2 2 2 2 2 25 2
10,000=682,82
[ows: PROBT [ p—
T i
7 SCHOLE SLOVARRA .ms”
a S a0
= POHLADY %




